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Essential Tipcs

Who do you think was responsible for the accident shown below? The driver of sports
car A, who was signalling left, drove across the path of driver B, who was unable to
stop in time.

(O the driver of car A

O the driver of car B O a combination of drivers 'A’,

‘B', and the local authority

O the local authorities for
not marking the road i
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Think about how this accident
could have been avoided.
Discuss your ideas with your
driving instructor, friends or

= A i teachers.

Progress checkJ

I can complete this skil with but need O 5igl’\6d ................ Date .

lots of help From my instructor.

con compite e it wibsmpe () signed Date

prompting From my instructor.

I have all the skils needed to complete .

this skill without help O SIgHCA """""""" Date ...
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